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18.085: Matlab Homework #2

Calculate the effective resistance of a network of resistors. Using
matlab, calculate the effective resistance of a square network of resistors
as shown below. (“Effective resistance” meaning if you replaced the entire
network with one resistor, &2;, how big is R;?). R for each resistor in the
network is 1 and there are N resistors on each edge of the network. (see
figures).

(a) Calculate Ry for N = 1:
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b) Calculate R; for N = 1:
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(c) Bonus question: Generalize the code for arbitrary N and plot N vs
R;.



